
                                                        help 
 

Selection of the proper semiconductor fuse for the protection of power electronics circuit can be a 
time-consuming process. 

 
Ultra Quick select software makes it simple and save time and money.  
Help is made by five different examples. 
 
 

Example Nr. 1: 
 
We have ONE PHASE BRIDGE with the next circuit: 
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ISF=100A, continous load/12 stops per day 
U= =100V 
I2t (diode)=1.000A2s 
Transformer power=50kVA 
Transformer impendance=2% 
COS fi=0,3 
Tamb=40 deg. C 
Fan=2m/s 
Cable cross section=50mm2 

Frequency=50Hz 
Characteristics: aR 
Possibility of mountaing microswitch NVS5! 
Size/type of fuse is not important!  
 
1.Chose the right fuse  in the circuit Is? 
2.For the same parameter when you use 2 fuses in paralel. 
 
 
 
 



 
 

 



 
 

 
 
 
 



 
 

 
 



 
 

 
 

 
 
 



 

 
 

 



 



                                     
Example Nr. 2: 
 
We have ONE PHASE BRIDGE with the next circuit: 

U
s

F

F

F

F

F
F

R

L

U=

UR

IS

ISF

I=

F

 
IS=150A, continous load/12 stops per day 
U= =250V DC 
I2t (diode)=100.000A2s 
Transformer power=100kVA 
Transformer impendance=2% 
L/R=40ms 
R=0,01 Ohm 
COS fi=0,5 
Tamb=60 deg. C 
Fan=0m/s 
Cable cross section=150mm2 

Frequency=50Hz 
Type-size= M1 ??? 
 
1.Choose the right fuse  in the DC circuit I=? 
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Example Nr. 3: 
 
Choose the right fuse manualy by useing Filter button. 
 
Un=690V 
In=100A 
Type=G 
Size=1 
I2t <3000A2s 
_____________________________________________ 
 

 
 



 
 

 
 
 



 

 
 

 
 
 



 
 

 
 
 
 
 
 



   
 
 

Example Nr. 4: 
 
We have the next data: 
 
Is=200A, continous load/ a few stops per year 
Us =800V 
I2t (thyristors)=200.000A2s 
Breaking capacity >50kA 
COS fi=0,8 
Tamb=80 deg. C 
Fan=5m/s 
Cable cross section=100mm2 

Frequency=15kHz 
 
type: S110, size 1 with possibility of mountaing MK!  
 

1.Choose the right fuse? 
 
 
 
 

 
 
 



 
 

 
 
 



 
 

 



 
 

 
 



 
 
 



 
 

Example Nr. 5: 
 
We have the next data: 
 
Cyclic load (AC): 
              

I1: 10 A ~ t1: 0,10 min 
              

I2: 50 A ~ t2: 10,00 min 
              

I3: 20 A ~ t3: 12,00 min 
              

I4: 15 A ~ t4: 5,00 min 
              

I5: 36 A ~ t5: 3,00 min 
              

I6: 14 A ~ t6: 2,00 min 
              

I7: 1 A ~ t7: 5,00 min 
              

I8: 5 A ~ t8: 45,00 min 
              
 
Us =800V 
I2t (thyristors)=2.500A2s 
Breaking capacity >50kA 
COS fi=0,8 
Tamb=80 deg. C 
Fan=5m/s 
Cable cross section=200mm2 

Frequency=5kHz 
 
type: G, size 1 with possibility of mountaing MK!  
 
1.Choose the right fuse? 
 
 
 
 
 



 
 

 
 
 
 



 
 

 
 
 
 



 
 

 
 
 



 
 

 
 
 
 



 

 
______________________________________________________________________________________ 
ETI gives no warranty that all errors have been eliminated from this program and shall not be able for direct, indirect 
or consequential losses, damages, costs, expenses, claims or fees of any nature or kind arising out of its use. 
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